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OUTEALA-: 1 2 3 7 8 9 BHEEHTE : BARUT ELAIATE = 1.5 - 72) % 0.80
INBH LA : 10 11 12 16 17 18 BAMERE : 20154048108 (£) FTRUEIBR . /8— x 2 (HATILs)

HOGPHIER : BB 36.0 2 36.0 EEY-7 36.0 #%-F 36.0

! i 7’!/(_ r—4 _ OU[ IN GROSS HDGP NET g 2 FLa4v—% ouT IN GROSS  HDCP NET
B B =5 X5 B 40 41 81 12.0 69.0 SIfT wif: @ # 38 44 - 82 8.4 736
#=EE R = # 42 42 84 14,4 89. 6 B HEAR IFFT # 45 43 88 14. 4 73.6
3 mE Bk - 44 51 95 25,2 69. 8 534 ok % 43 45 88 14.4 73.6
A %k B B 46 46 92 2.6 70. 4 baf  ¥8A JE— B 47 47 94 20. 4 73.6
Bt #hE % K 43 37 80 9.6 70. 4 55f N 3k B 40 36 76 2.4 73.6
601 =EE £ # 43 48 ) 91 0.4 0.6 Bef  WEH Mi— % 42 T 82 8.4 73.6
M BH —k ﬁ 38 H 79 8.4 70. 6 576 WM EE # 46 43 94 20.4 73.6
8 &Ml & B 40 44 84 13.2 70.8 585 A % ¥ 45 42 87 13.2 73.8
M EE A B 44 45 89 18.0 71.0 590 ER SRR B 43 38 81 7.2 73.8
10680 WF —# B 45 43 88 16.8 7.2 60f i & % 47 40 87 13.2 73.8
1 ES &= ¥ 45 A2 Y] 15.6 71.4 61 3HH % # 44 49 " 93 19.2 73.8
12 1l B % 41 45 86 14.4 71.6 624 AL fg # M 46 87 13.2 73.8
18 HEH HH # 39 Al 80 8.4 7.6 634 TR —i i 39 42 8t 7.2 73.8
4E AR BE % 51 52 103 31,2 71.8 644 B EEA ¥ 47 52 99 25.2 73.8
156 WE HAfT # 41 44 85 132 71.8 6502 3Lt = % 42 45 87 13.2 73.8
162 23 FH 3 50 47 97 252 71.8 66 =E & # 4 48 ) 97 18.0 74,0
1 ok B2= % 44 46 90 18.0 72.0 678 SIS HE # 45 41 86 12.0 74.0
18 &EE % B 37 41 78 6.0 72.0 680 PEHIE —pk B 47 39 86 12.0 74.0
1968 Rt HEF % 46 43 89 16.8 72.2 60 =i B # 47 44 91 16. 8 4.2
00 RE BR # 48 47 95 22.8 72.2 70 BTE {EKER # 45 46 91 16.8 74.2
21 HiEm A= 23 M 47 88 15.6 72. 4 T BE B % 47 44 91 6.8  74.2
22 B Al B 40 42 82 9.6 72.4 7205 Bpth s % 39 40 79 4.8 74.2
2308 AR B B 44 44 88 15.6 72. 4 YRITAE - B 46 44 90 15. 6 74. 4
U5 Hm E B 45 42 87 14.4 72.6 TARE R ¥ 41 43 84 9.6 74.4
2560 HE HR # 45 42 87 14.4 72. 6 756 #ER LK # 42 42 84 9.6 74.4
260 BER EE B 39 4 80 7.2 72.8 164 HA EE H# 40 a4 84 9.6 744
2 A E 3 47 51 98 25.2 72.8 T ik 3 # 40 38 T8 3.6 74.4
280 BE #Hb ¥ 42 44 36 13.2 72.8 T8 R B % 43 M 84 9.6 74.4
2981 BB EL # 44 48 92 19.2 72.8 796 ME FER # 39 44 83 8.4 74.8
My BK KEER # 45 M 86 13.2 72.8 804 EH BT B 45 44 89 14. 4 74.6
3 XKiE EHE # 8 g 97 24.0 73.0 Blfr I =g # 42 47 -89 4.4 746
24 BEE Bl # 54 49 103 30.0 13.0 826%  E MEF b3 45 44 89 14.4 74.8
BE =Y EE # 42 43 85 12.0 73.0 83 T B 44 45 89 14.4 74.6
M AR = ¥ 42 37 79 6.0 73.0 Baf Mk = # 49 52 101 26. 4 74.6
B RE B2 B 47 43 90 16.8 73.2 854 K B # 48 52 100 25.2 74.8
361 KR BAE ¥ 42 4 84 10. 8 732 864 Mt Ak # 40 42 82 7.2 74.8
I MR S B 49 41 90 16. 8 73.2 871 B Bk B 48 46 94 19.2 74.8
BlE RE B e 49 46 95 21.6 73.4 88 KB —@ # 42 46 88 13.2 74.8
IHT ik R % 42 41 83 9.6 73.4 80 M IE # 40 42 82 7.2 74.8
4005 K3F B e 43 46 89 15.6 73.4 90f  EER & 1% 55 50 105 30.0 75.0
i Em@ Bh— % 39 38 ) 77 3.6 73.4 9lkr & # B 49 44 ) 93 8.0  75.0
20 PrE # 45 50 95 21.6 73. 4 024 Hrh # # 45 48 93 18.0 75.0
4305 EEp HE # 57 44 101 27.6 73. 4 9 —/E B B 42 44 86 10.8 75.2
M4BT FRH AN # 43 40 83 9.6 73.4 04 HE K B 46 52 98 22. 8 75.2
4505 HBE K % 41 42 83 9.6 73.4 95f EHRE = # 48 50 08 22.8 75.2
468 RA KIE 57 45 4 89 T 156 73.4 96hr Ak B 47 51 98 29.8 '75.2
4 HE B B 43 40 83 9.6 73.4 97 BEA = B 47 51 98 22.8 75.2
485 IR B E 41 42 83 9.6 73.4 98fs HH SE B M 45 86 10.8 75.2
1961 Bk B ¥ 42 46 88 14.4 73.6 99 R W= FE 46 45 91 15.6 75. 4
B0f  <E EX B 53 53 106 32.4 73.6 1004 &k 18 # 44 41 85 9.6 75. 4
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10244 #E A7 1% 40 45 85 9.6 75. 4 1524 A e # 43 45 88 9.6 78. 4
103 i £H #* 46 44 90 14,4 75. 6 1534 hik E % 55 56 111 32.4 78.6
104 &F 58 % 41 43 84 8.4 5.6 154 K %% # 59 52 111 32.4 78.6
1054 f&fE M= e 52 50 102 96. 4 75.6 1556 AHE {= 1% 56 55 111 32.4 78.6
1066 HE B # 43 47 90 144 75.6 156 M £EF B 56 55 111 32.4 78.6
107 =& 5% 1 4 42 83 7.2 75.8 1576 FEE %5 1% 55 49 104 95,2 78.8
1084 skH BRI 53 44 51 g5 19.2 75.8 158k B B 1% 54 54 108 28.8 79.2
1004 [FEF 4= 5 50 45 g5 19.2 75. 8 1506 IhE H& 5 46 49 95 15.6 79. 4
10k #F B 5 40 42 82 6.0 76.0 1606 FE £x # 52 54 106 26. 4 79.6
T . - ™ o e T = o o s
126 thie wF B 47 # 88 12.0 76.0 1620 Il 48 5 46 42 88 8.4 79.6
134 BT & B 50 50 100 24.0 76.0 1634 BE)II SF B 45 54 99 19.2 79.8
Ak B % 43 44 87 10.8 76,2 1640 484 #— % 57 47 104 24.0 80.0
15k #E HE % 50 49 99 22.8 76.2 1657 /D B # 49 49 98 18.0 80.0
11667 B B4 B 45 42 87 0.8 762 1666 FE A 0000 B 52 57 109 28.8 80. 2
1HE BEE S % 52 52 104 27,6 76. 4 1612 R &F 1% 54 54 108 27.6 80. 4
11862 fum —ih B 52 52 104 27.6 76. 4 16812 E #k % 54 54 108 27.6 80. 4
11960 &K (BB % 49 48 97 20. 4 76.6 1694 BAE H— 3 47 49 96 15.6 80. 4
1200 AR E— 5 40 45 85 8.4 16.6 1701 A S % 47 49 96 15.6 80. 4
21t R # 45 46 91 144777766 1T & 8= % 47 54 101 20. 4 80. 6
122, K% #= e 48 55 103 26. 4 76. 6 1724 BEA # 48 53 101 20. 4 80.6
1234, SR PR # 44 53 97 20. 4 76. 6 1B T BE B 55 52 107 26. 4 80. 6
12468 MR —B 1% 46 45 91 14. 4 76. 6 1746 RE #H—:B H 52 60 112 31.2 80. 8
12508 R B 1 47 49 96 19.2 76. 8 1756 =iE B 53 64 53 17 36.0 81.0
126f SR S=IE # 45 45 90 13.2 76. 8 1766 REE & W 54 56 110 27.6 82.4
1276 0 BE 1 49 47 96 19.2 76. 8 1T & % % 58 58 116 33.6 82. 4
1280 WA BXH B 48 48 96 19.2 76. 8 1/8tr =48 Hig B 51 54 105 21.6 83. 4
1290 ¥k — 5 50 52 102 95.9 76. 8 1794 E BT 1% 63 57 120 36. 0 84.0
130f  #H HE % 44 40 84 7.2 76. 8 1804 BEOE B # 59 55 114 98.8 85.2
B af —% B 52 56 108 31.2 76. 8 181 BN Ef TE e T 125777738 812
1326 =@M = o 45 44 89 12.0 77.0 18245 #E M % 67 68 135 36. 0 99.0
1336 #EA 8k £ 42 40 82 4.8 71.2
1384 FA M B 56 55 M 33.6 77.4
135k Rk H— t 54 51 105 27. 6 77.4
136 R A8 49 50 99 21.6 77,4
131 EAE E% % 56 55 111 33.6 77.4
1386 [hA ME B 58 53 11 33.6 71,4
1304 38 &E 5 45 48 93 15.6 71,4
1404 X% % 47 45 92 14.4 71.6
AR mE s #% 53 51 104 26.4 716
1426 NIsh A 1% 47 45 92 14.4 77.6
14345 7% E # 49 49 98 20. 4 71.6
4l KB EE % 45 47 92 14.4 77.6
14545 $EH @ , B 53 50 103 25.2 77.8
et BaE 2 # 56 46 102 240 78.0
1476 F#E E- B 47 55 102 94,0 78.0
1481 a2 ® 51 45 96 18.0 78.0
1491 #AH/ BTz e 43 59 95 16.8 78.2
1604 %R 45 5 42 4 83 4.8 78.2
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7__]‘II‘E__”‘L3*;_ 7’1/«1’ ’v—:E’, ‘ ouT IN GROSS HDGP NET I i FLA4v—4& ouT IN GROSS  HbGP NET
B OB N s # 40 36 76 0.0 76.0 SIE4 - FA 0] # 43 45 - 88 0.0 88.0
BB EM H— 2 39 38 77 0.0 77.0 Sifis 4 E i H 45 43 88 0.0 88.0
a4 EB B ¥ 37 41 78 0.0 78.0 515484 JEE 3% # 44 44 88 0.0 88.0
Mg Hh B 40 38 78 0.0 78.0 5is 4 AB —i H 42 46 88 0.0 88.0
SRis A B A B 39 40 79 0.0 79.0 Siss 4  FRIL B B 46 42 88 0.0 88.0
SR8 4 BH —% H 38 4 79 0.0 79.0 Siis A4 e A= 8 41 47 88 0.0 88.0
Mig4 HE F 43 37 80 0.0 80. 0 51454 hE EF B 47 41 88 0.0 88.0
Wia 14 S £H ¥ 39 41 80 0.0 80.0 5lfus a4 & £ 3 43 45 88 0.0 88.0
e BR EZ # 39 41 80 0.0 80.0 SiEa A #EE BT % 45 43 88 0.0 88.0
10854 HH AH # 40 41 81 0.0 81.0 SlIEa 4 Bk B ¥ 42 46 88 0.0 88.0
AL B B & e = e e ~EEE T B = e e 550
1054 A FE —if ¥ 39 42 81 0.0 81.0 644 % FE ¥ 47 47 80 0.0 89.0
134 4 FH B B 40 42 82 0.0 82.0 62us 4 EH E # 45 44 89 0.0 89,0
13624 4 A BA % 42 40 82 0.0 82.0 684 MR HEF B 45 44 89 0.0 89.0
1254 HFE B ¥ 40 42 82 0.0 82.0 62T 54 B M # 44 45 89 0.0 89,0
135484 #HIt Hli— ¥ 42 40 82 0.0 82.0 TeMEA A EHF BRA ¥ 4 44 8 0.0 89.0
His+4 BE 4 ¥ 41 42 83 0.0 83.0 62p1% A KIF FEAS i 43 46 89 0.0 89.0
s i FE B 43 40 83 0.0 83.0 620i4 A (R T % 44 45 89 0.0 89.0
MR 4 Hik % # 42 4 83 0.0 83.0 620615 A AR R # 45 44 89 0.0 89.0
 THIR A WEHF AN #® 43 40 83 0.0 83.0 MWhRE4  f B % 46 44 80 0.0 80.0
Mg« #HE 3H w 42 41 83 0.0 83.0 oA A WA BEZ H 44 a6 0 0.0 90.0
1TMER 4 IR & B A1 42 83 0.0 83.0 THES 4 HA B # 43 47 90 0.0 90. 0
M4 A [HEE R 53 39 44 83 0.0 83.0 Mea4 RERE B2 # 47 43 90 0.0 90. 0
AR A Rl F B 40 44 84 0.0 84.0 a4 FAE ER # 46 44 90 0.0 90. 0
M54 R ¥ ¥ 42 42 84 0.0 84.0 TOfE A 4 jERb SEIE # 45 45 90 0.0 90. 0
U558 4 HRA E= ¥ 40 44 84 0.0 840  T6iA 4 BX KIS % 47 44 91 0.0 91.0
U A4 HHE B # 44 40 84 0.0 84.0 TeRi A A4 HTHE {@JER B 45 46 91 0.0 91.¢
A4 R B # 43 41 84 0.0 84. 0 TeRa 4 B B= % 46 45 91 0.0 91.0
24618 4 PR BhiE H 42 42 84 0.0 84. 0 T6fEs 4 =87 EAF ¥ 47 44 91 0.0 91.0
s A BFE FBi H# 4 43 84 0.0 84. ¢ oA A TR —Ea B 46 45 91 0.0 910
B A4 B Wi B 41 43 84 0.0 840  Jekiaq #BAF BH OB 45 46 91 0.0 91.¢
A4 FE LK ¥ 42 42 84 0.0 84.0 Tefis 4 EAW H ¥ 43 48 91 0.0 61.0
Vs EH EH B 42 43 85 0.0 85.0 834 I BhEE # 47 45 92 0.0 92.0
WA AR B— B 40 45 85 0.0 85.0 a4 XK A # 47 45 92 0.0 92.0
VLA WK # 43 42 85 0.0 8.0 BsA BB EL H 44 48 %2 00 90
B EK B ¥ 44 41 85 0.0 85.0 834 K BEE # 45 47 92 0.0 92.0
A4 HWE T ¥ 4 44 85 0.0 85.0 83 A A K R= B 46 46 92 0.0 92.0
BRI HE Hth 7 42 44 86 0.0 86.0 8B4 A R B 44 49 93 0.0 93.0
BhTH 4 LM 7 i 41 45 86 0.0 86.0 BBfiis 4 Fih BHE B 45 48 93 0.0 93.0
 3BfiAA EH RE # 41 45 86 0.0 86.0 8BfL 4 4 fEfG B 49 44 93 0.0 93.0
WA BIE HE # 45 41 86 0.0 86,0  88fus« M EF B 45 48 93 0.0 93.0
B/L& 4 HAK KEH # 45 41 86 0.0 86.0 A A BER JE— 3 41 41 94 0.0 94. 0
3R 4 MR EEE # 45 42 g7 0.0 87.0 NiEEA EE EEX B 48 46 94 0.0 94.0
3fEs A HLE @ 3 41 46 87 0.0 87.0 94 % A KM BB B 44 51 95 0.0 95. 0
BRs A R E= ¥ 45 42 87 0.0 87.0 QME A A T ] B 45 50 95 0.0 95,0
B354 HE RE B e 45 87 0.0 87.0 04l s A B R 3 46 49 g5 0.0 95.0
a4 HHE B # 45 42 87 0.0 87.0 Q44 M AR T B 50 45 95 0.0 95.0
Bra 1 e B # 45 42 87 0.0 87.0 Q4 A A BA ek B 44 51 95 0.0 95.0
LB a4 g B % 43 44 87 0.0 87.0 Uz A BSOS ¥ 48 47 95 0.0 95.0
B4 EiE B B 45 42 87 0.0 87.0 A A HEAR B2 # & 52 95 0.0 95.0
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B T v—4% ouT IN GROSS  HDGP NET Bfr TbAv—& T IN  GROSS HDCP  NET
s e B % e = o X G
0255« sk o4 B 47 49 96 0.0 96.0 1504 4 EME - ¥ 56 55 111 0.0 111.0
102425 4 thdk HEE # 48 48 96 0.0 96.0 150652 4 BE m# i 59 52 111 0.0 111.0
10265 4 #E¥ h % 51 45 96 0.0 96. 0 1506 % 4 [RMA BE % 58 53 1M1 0.0 1.0
102655 4 B0 WS ¥ 49 47 96 0.0 96.0 1656 RE #—# t 52 60 112 0.0 112.0
102EA A BH RE O 47 49 96 0.0 96.0 1660 BRE RIS # 59 55 114 0.0 114.0
10255 4 BY %— # 47 49 96 0.0 96. 0 1574 & ¥ 153 58 58 116 0.0 116.0
108R1% 1 K #{HR ¥ 49 48 97 0.0 97.0 1684 B SiE ¥ 64 53 17 0.0 17.0
1086k & EEB BEHE b= 44 53 97 0.0 97.0 1590 | BT ¥ 63 57 120 0.0 120.0
10865 4 &3 EH % 50 47 97 0.0 97.0 1604 FEI B % 62 60 122 0.0 122.0
BICZEEE - XG H# 49 49 98 0.0 98.0 161 HE ¥E # 67 68 135 0.0 135.0
MHig A K& & B 47 51 98 0.0 98.0 Eigg AR £ Lz 42 37 79 0.0 79.0
NS, HE & e 46 52 98 0.0 98.0 EiE mEe ok B 40 42 82 0.0 82.0
TR A R F ¥ 47 51 08 0.0 98.0 EigE Re E ¥ 38 44 82 0.0 82.0
Nifis 4 EHE %= £ 48 50 98 0.0 98.0 HiEE M IR % 40 42 82 0.0 82.0
M4+ RAE ER H 47 51 98 0.0 98.0 BEiRE hHE =A # 4 42 83 0.0 83.0
MHES 1 i B e 49 49 98 0.0 98.0 BiRE S —R # 47 39 86 0.0 86.0
1862584 |8 AR B 49 50 99 0.0 99.0 BikE —E B 42 44 86 0.0 86.0
N8fL% 4 | B 3 47 52 99 0.0 99, 0 EiRm W LT ¥ 47 40 87 0.0 87.0
11841  FEjH sp B 45 54 99 0.0 99.0 BRE 2@ # B 44 48 92 0.0 92.0
1824 #HaE HE o 50 49 99 0.0 99.0 - EHBE nm EE ¥ 46 48 94 0.0 94. 0
12255 4 BT & % 50 50 100 0.0 100.0 HEE AKX B ¥ 48 52 100 0.0 100.0
1226154 @ 7§ B 50 50 100 0.0 100.0 ERE BE NP # 52 52 104 0.0 104.0
124665 1 7 5= B 47 54 101 0.0 101.0 '
a4 R BEE % 57 44 101 0.0 101. 0 .
124655814 BA g B 48 53 101 0.0 101.0 1
12MEs 4 1EH = 3 52 50 102 0.0 102.0 » s
127154 HiE 2 # 56 46 102 0.0 102.0 i %/gfﬁ
121z 4 FHE 5= e 47 55 102 0.0 102.0 g
ML MR — % 50 52 102 0.0 102. 0
Bifis 4 A8 BE B 51 - 52 103 0.0 103.0
1316E49 1 BEIE B b= 54 49 103 0.0 103.0
Bifr24 H#H 2 % 53 50 103 0.0 103.0
BlEE 4 X% H- 2 48 55 103 0.0 103.0
13624 FIEH —A % 52 52 104 0.0 104.0
13504 1 BA 2— # 57 47 104 0.0 1040
13565 4 B 55 e 55 49 104 0.0 104. 0
1356158 4 M S # 53 51 104 0.0 104.0
139fus 4 245 &8 B 51 54 105 0.0 105.0
18964 o JEER B B 55 50 105 0.0 105. ¢
139514 Rk B— # 54 51 105 0.0 105.0
1424584 FH &% # 52 54 106 0.0 106.0
42545 4 RE EX i* 53 53 106 0.0 106.0

444 1B BE B 55 52 107 0.0 107.0
bk A E ER % 54 54 108 0.0 108.0
145618 1 B —Z # 52 56 108 0.0 108.0°
45581 +E & B 54 54 108 0.0 108.0

1481 ER $BA e 52 57 109 0.0 109. 0

14945 SERE it rE 54 56 110 0.0 110.0
150485 4 ik & ¥ 55 56 111 0.0 111.0
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